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(Parallel lines and Congruent Triangles Worksheet)

III Prove which of the following triangles are congruent by filling in the missing blanks

A B

AW
77

Given CO =BO andmll(c_[))

Statements Reasons
CO=BO
—>
ABIICD

bl EoN Bl Bl B

AABO = ADCO

Given AD = CB and AD 11 CB

Statements Reasons
AD =CB

— —
AD Il CB
4 ADB=4CBD

bl ol Bl Bl B

ADAB = ABCD

«— >
Given AE = CF, £ BAC= ZDEF and BC Il DF

Statements Reasons
AE=CF

—
BC Il DF
4 BAC=/ DEF

Ll ol Bl B B

ABAC = ADEF

—> —> «—>
Given XY 1l ZV and XVIIYZ

Statements Reasons

— —
1. XYl zv
——
XVIIYZ

Al Bl Bl R

AXYV = AZVY
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Name: |
Score: o Date: __ .
( Congruent Triangles Worksheet )
Answers
AAS
AC =BD, AB=CD, CB=CB ~0PQ= ~ORS, OP =0S, ~POQ = ~SOR EF = EG, FH = GH, EH = EH
AACB = ADBC APOQ = AROS AEFH = AFGH
[5] A
Iz' SAS SAS ASA
X
: F
h G \\/y
H
ZXYE= ZHFG, ZXEY = ZHGF, SR =QR, ZPRQ = ZTRS, ZABC = £DCB, BC=BC,
XE = HG PR=TR ZDBC = ZACB
AXYE = AHFG APRQ = ATRS AABC = ADCB
A
SAS HL
X I Y
|
} M
1
z W B C D
XY =ZW, ZXYZ = ZWZY, ZY = ZY ZACB= ZACD = 90° AC = AC
AXZY = AWYZ AABC = AADC
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